91. & KT == B (P2 EE)
H B & 2 4] [i] % Al
TEOYN | TR KWE | FHEDE FEOR | WEKWH | FREHE
B fir ] KW FKWH 3 KW FKWH
w b4 831,995 2,174,230 2,495,011 28,019 3,704 63,134
£ B &' M 12,326 1,609 5,585 5,620 - 1,872
o= &' 638,572 1,802,720 1,944,916 22,059 56,054
()
- {) 32,019 340,100 462,769 305 3,704 5,089
()
Fa » b 149,078 29,801 81,741 35 - 119
EE SHEEK
92. E £ M E H F E BE-FHFTH
H & & )] 3] [ & N
HHENE EREN=
ZHOHK B kw i N B ew )
2 H T #kw (FKWH) £~ ¥ By kw (FKWH)
T OEK 2 £ K 5,121 1,905, 050 6, 380, 161 73 28,994 110, 850
(4) (42,850) (246 ,272)
500 KW LA + i
489 1,360,307 5,195,374 5 21,802 94,697
B K ok E X 3 2,079 7,242 - - —
A E 9 8,206 19,056 1 642 1,241
21 B3 * 2 1,313 2,172 — - -
£ & E3 423 1,297,268 4,999,579
(4) (42 ,850) (246 ,272) 4 21,160 93,456
1 3 =
' % = 5 1,198 18,079 — - -
7R K E 20 22,640 68,701 - - —
Z D it 27 24,603 80,545 — - —
500 KW * il 4,632 544,743 1,184,787 68 7,192 16,153
B K E OE 191 18,626 50,455 7 610 1,240
& ¥ 53 8,353 15,725 1 75 135
i B3 ¥ 100 12,880 19,826 2 156 67
B & * 3,711 426,875 880,706 46 4,969 10,345
O A AE 72 10,093 29,362 1 105 315
A K M 161 25,758 86,709 395 1,803
ra ) 1 344 42,158 102,004 882 2,248
1.228 0%, 2HKWEIL 3 4 3 HERBEHE g8 W Ok

2ERENRE 248~ 343 AT TR
3.5 0%, BUKWHRCHAR R EER () BFRSHROOERSTH DA HTH S,
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